T-701

Installation Instructions / Instructions d'installation / Montagean weisung /
Instrucciones de instalacion / Istruzioni di installazione / BUiRkEREEE | L2235 AP

NEC

Printed in Korea

English
We greatly appreciate your purchase of this
NEC MultiSync Monitor Table top stand.

Read these instructions and MultiSync monitor User's manual carefully to
ensure proper usage.

This product is designed for use exclusively with the following
MultiSync Monitors.

* MultiSync P701

- Materials included in package -
* Stand *Installation instructions *Screws x 2

Installing Stand:
CAUTION: Installing and removing the stand must be done by using
eyebolts (M12).*
Do not attempt to mount or carry the display using your own strength
as the display may fall and cause personal injury.
*: Eyebolts (M12) are included in LCD monitor accessories.
1. Please turn monitor off.
2. To attach the optional stand to the monitor, lift the monitor using a lifting device
with eyebolts (M12), then insert the stand into place. (Figure1)
3. After inserting stand in guide block, fasten 2 screws on both side of the monitor.
(Figure1)

/A CAUTION

- Handle with care when mounting MultiSync monitor stand
and avoid pinching your fingers or feet.

Prevent Tipping:

When using the monitor with the stand fasten the monitor to a wall using a cord or chain
that can support the weight of the monitor in order to prevent the monitor from falling.
Fasten the cord or chain to the monitor using the eyebolts (M8)*2. (Figure2)

When using eyebolts (M8) for prevent the monitor from falling, attach the eyebolts (M8) to
backside position (Figure2).

CAUTION: Before attaching the monitor to the wall, make sure that the wall can
support the weight of the monitor.
Be sure to remove the cord or chain from the wall before moving the
monitor.

*2: Eyebolts(M8) are included in LCD monitor accessories.

Specifications:
Dimensions: 100.4 (W)x 229.1 (H)x 500 mm (D) (each) Weight: 4.0 kg 1 pair

*This specifications and/ or design of this product may be subject to change at
any time without prior notice.

Francais
Nous vous remercions d'avoir acheté ce support de table
pour moniteur NEC MultiSync.

Lisez attentivement ces instructions ainsi que le Manuel d'utilisation du
moniteur MultiSync pour garantir une utilisation appropriée.

Ce produit est congu pour étre utilisé exclusivement avec les
moniteurs MultiSync suivants.

* MultiSync P701

- Eléments inclus dans I'emballage -
*Support *Instructions d'installation *Vis x 2

Installation du support :

ATTENTION : L'installation et le retrait du support doivent étre effectués
a l'aide de boulons a ceil (M12).*
N’essayez pas de monter ou de transporter I'écran a bout de bras car
I’écran pourrait tomber et provoquer des blessures personnelles.

*: Les boulons a ceil (M12) sont inclus dans les accessoires du moniteur LCD.

1. Veuillez éteindre le moniteur.

2. Pour fixer le support en option au moniteur, soulevez le moniteur a I'aide d'un appareil de
levage avec des boulons a ceil (M12), puis insérez le support dans le moniteur. (Figure1)
3. Aprés avoir inséré le support dans le dispositif de guidage, fixez les 2 vis des

deux cbdtés du moniteur. (Figure1)

- Effectuez les manipulations avec soin lors du montage du support pour
moniteur MultiSync et évitez de vous coincer les doigts ou les pieds.

‘ /\ ATTENTION

Evitez le basculement :
Lorsque vous utilisez le moniteur avec le support, fixez le moniteur @ un mur a I'aide d’'un
cordon ou d'une chaine suffisamment solide pour supporter le poids du moniteur, afin
d'empécher le moniteur de tomber.
Fixez le cordon ou la chaine au moniteur a l'aide des boulons a ceil (M8)*2. (Figure2)
Lorsque vous utilisez les boulons a ceil (M8) pour empécher le moniteur de tomber, fixez
les boulons a ceil (M8) a la partie arriere (Figure2).
ATTENTION : Avant de fixer le moniteur au mur, assurez-vous que le mur peut
supporter le poids du moniteur.
Assurez-vous de retirer le cordon ou la chaine du mur avant de déplacer
le moniteur.
*2: Les boulons a ceil (M8) sont inclus dans les accessoires du moniteur LCD.

Caractéristiques techniques :
Dimensions : 100.4 (L)x 229.1 (H)x 500 mm (P) (chaque) Poids : 4.0 kg 1 paire

*Les caractéristiques techniques et/ou la conception de ce produit peuvent étre
modifiées a tout moment sans préavis.

Rev, 1
Wir freuen uns liber Ilhren Kauf dieses NEC MultiSync

Monitortischstianders.

Lesen Sie diese Anweisungen und das Benutzerhandbuch des MultiSync Monitors
aufmerksam durch, um eine ordnungsgemafe Nutzung zu gewahrleisten.

Dieses Produkt wurde ausschlieBBlich fiir den Einsatz mit den
folgenden MultiSync Monitoren entworfen.

* MultiSync P701

- Lieferumfang -
*Stéander *Montageanweisungen *Schraube x 2

Standermontage:

VORSICHT: Die Montage und Demontage des Standers muss unter
Verwendung der Ringschrauben (M12) durchgefiihrt werden.*
Versuchen Sie nicht, den Bildschirm aus eigener Kraft anzubringen oder
zu tragen, da er herunterfallen und Verletzungen verursachen kénnte.

*: Die Ringschrauben (M12) sind im Zubehér des LCD-Monitors enthalten.

1. Bitte schalten Sie den Monitor aus.

2. Zur Anbringung des optionalen Standers an den Monitor, heben Sie den
Monitor unter Verwendung einer Hebevorrichtung mit Ringschrauben (M12) an
und setzten Sie den Stander dann so ein, dass er einrastet. (Figure1)

3. Nach dem Einfuhren des Standers in den Fuhrungsblock befestigen Sie 2
Schrauben an beiden Seiten des Monitors. (Figure1)

. Seien Sie vorsichtig bei der Montage des MultiSync Monitorstédnders
und achten Sie darauf, Ihre Finger oder FiBe nicht einzuklemmen.

‘ /A VORSICHT

Umkippen verhindern:

Wenn Sie den Monitor mit dem Stander benutzen, befestigen Sie den Monitor an der Wand mit einem
Seil oder einer Kette, die das Monitorgewicht tragen und somit sein Abstiirzen verhindern kénnen.
Befestigen Sie das Seil oder die Kette am Monitor mit Hilfe der Ringschrauben (M8)*2. (Figure2)
Wenn Sie Ringschrauben (M8) verwenden mdchten, um ein Abstiirzen des Monitors zu verhindern,
befestigen Sie die Ringschrauben (M8) an der Hinterseite (Figure 2).

VORSICHT: Vergewissern Sie sich vor dem Anbringen des Monitors an der Wand,
dass das Monitorgewicht von der Wand getragen werden kann.
Stellen Sie sicher, dass das Seil oder die Kette von der Wand
abgetrennt sind, bevor Sie den Monitor bewegen.

*2: Die Ringschrauben (M8) sind im Zubehor des LCD-Monitors enthalten.

Spezifikationen:
Abmessungen: 100.4 (Breite)x 229.1 (Hohe)x 500 mm (Tiefe) (jeder) Gewicht: 4.0 kg 1 Paar

Screw
Vis
Schraube
Tornillo
Vite

Y

473

Figure 1

Eyebolt (M8)

Boulons a oeil (M8)
Ringschrauben (M8)
Cancamo (M8)

Bullone a occhiello (M8)
ARV~ (M8)

mINZE (M8)

a7

Chain
Chaine
Kette
Cadena
Catena
o—7

Figure 2

*Diese Spezifikationen und/oder das Produktdesign kénnen sich jederzeit ohne
vorherige Ankindigung andern.

Le agradecemos la compra de este soporte de mesa

|para el monitor NEC MultiSync.

Lea detenidamente estas instrucciones y el manual de usuario del
monitor MultiSync para asegurar un uso adecuado del producto.

Este producto esta disenado exclusivamente para los siguientes
monitores MultiSync.

* MultiSync P701

- Elementos incluidos en el embalaje -
*Soporte *Instrucciones de instalacién *Tornillo x 2

Instalacién del soporte:

PRECAUCION: La instalacion y la extraccién del soporte deben
realizarse con la cancamos (M12) de anilla.*
No intente montar o transportar la pantalla usted solo ya que
podria caérsele y causar dafios personales.

*: Los cancamos (M12) se incluyen entre los accesorios del monitor LCD.

1. Apague el monitor.

2. Para acoplar el soporte opcional al monitor, levante el monitor utilizando un
dispositivo de elevacién con cancamos (M12) de anilla y, a continuacion,
inserte el soporte en su sitio. (Figure1)

3. Una vez haya introducido el soporte en las guias, fije 2 tornillos a ambos
lados del monitor. (Figure1)

- Manipule con precaucioén el soporte del monitor MultiSync y
evite pellizcarse los dedos o los pies.

/A\ PRECAUCION

Evitar la basculacion:

Para evitar que se caiga el monitor con el soporte, fijelo a la pared mediante una
cuerda o una cadena que soporte el peso del monitor.

Fije la cuerda o la cadena al monitor mediante los cancamos (M8)*2 de anilla. (Figure2)
Cuando utilice los cancamos (M8) para evitar que caiga el monitor, acople dichos
cancamos (M8) en la posicién posterior (Figura 2).

PRECAUCION: Antes de acoplar el monitor a la pared, asegurese de que la
pared puede soportar el peso del monitor.
Asegurese de retirar la cuerda o la cadena de la pared antes de
mover el monitor.

*2: Los cancamos (M8) se incluyen entre los accesorios del monitor LCD.

Especificaciones:
Dimensiones: 100.4 (Ancho)x 229.1 (Alto)x 500 mm (Grueso) (cada) Peso: 4.0 kg 1 pareja

*Las especificaciones y/o el disefio de este producto pueden estar sujetas a
cambios en cualquier momento y sin previo aviso.

La ringraziamo per aver acquistato il supporto da tavolo
per monitor NEC MultiSync.

Leggere le istruzioni e il Manuale d'uso del monitor MultiSync
attentamente per assicurarsi di utilizzare il prodotto nel modo corretto.

Il prodotto é stato progettato per I'uso esclusivo con i seguenti
monitor MultiSync.
* MultiSync P701

- Materiale incluso nell'imballaggio -
*Supporto *Istruzioni di installazione *Viti x 2

Installazione del supporto:

ATTENZIONE: L'installazione e la rimozione del supporto dev’essere realizzata
utilizzando dei bulloni a occhio (M12).*
Non provare a montare o a trasportare il monitor con le sole proprie forze
in quanto il monitor potrebbe cadere e causare lesioni alla persona.

*: | bulloni a occhio (M12) sono inclusi negli accessori del monitor LCD.

1. Spegnere il monitor.

2. Per collegare il supporto opzionale al monitor, sollevare il monitor utilizzando
un dispositivo di sollevamento con bulloni a occhio (M12), quindi inserire il
supporto correttamente. (Figure1)

3. Dopo aver inserito il supporto nel blocco delle guide, stringere le 2 viti su
entrambi i lati del monitor. (Figure1)

. Prestare attenzione quando si monta il supporto per il monitor
MultiSync e fare attenzione a non schiacciarsi le dita o i piedi.

/\ ATTENZIONE

Prevenire le cadute:
Quando si utilizza il monitor con il supporto assicurare il monitor al muro con una
corda o una catena in grado di sostenerne il peso per prevenirne la caduta.
Assicurare la corda o la catena al monitor con i bulloni a occhio (M8)*2. (Figure2)
Quando si utilizzano bulloni a occhiello (M8) per evitare che il monitor cada,
inserire i bulloni a occhiello (M8) nella parte posteriore (Figura 2).
ATTENZIONE: Prima di assicurare il monitor alla parete, verificare che il muro
sia in grado di sostenerne il peso.
Accertarsi di rimuovere la corda o la catena dal monitor prima di
spostarlo.
*2: | bulloni a occhiello (M8) sono inclusi negli accessori del monitor LCD.

Specifiche:
Dimensioni: 100.4 (L)x 229.1 (A)x 500 mm (P) (ogni) Peso: 4.0 kg 1 coppia

*Queste specifiche e/o il progetto del prodotto potrebbero essere soggetti a
cambiamenti in qualsiasi momento e senza preavviso.

CODEVRT—TIV by TR RESBELEFVEE.

HbhEScENX LT

EULSBEVWERL eI, COMBURRREIERRT « ATLAD
[EUREHERE | & K < BFHH L TES L,

AEEIELITD
BEBT A ATVAERHTT,

MultiSync P701

= —
IEmatESR
BE EFVR W & F CRRENTOB BRI TOESD T,
F—FELTNBHOPHIEL TN EDHBOE LS. BREmE COEE< 2T,

« ATV R - BURERBAE (x2) - RV (2@)

A5V ROEmbHF ERfEIRGLE
Ax= Ejﬁrﬁumoaéma TRBO—TEAVNTT 1 2
gy I LA ZEELTL 2aLN
A e B L am ey EEICES « X TLA IHROTA I (M)
RERLTEE,

F42ATVAZRD LIFTBTH>TLIEEWL.T
DT ARV FHBATONEVWT E&REELTL
EEVW ADNEITHFRERFS LIFHEETL
TEHHDOFEAEBDTENBDFET,

EEOBIEERXRIINICT A RIL M(M8) &
Lo bEDbFIFTLEEL (Figure2)

T4 RTVAZTDICRIFCEDBRORIBEIC,

1. FA2TUAOEBERA vFEATIcLEY,  L2IDDERELTIREZLY, o
2. F4 ZATUA &7 IV MM12) TRO Fishi5, XREO—TIET 1 ATV A DEL[CWHAS5NS
AYYREF 4 ZTUATHORCELABEY, HBOEERIEELY,
(Figure'l ) A :I ==
T =R

3. A4 RIL—LOBRETL-oNDELRAARES, R
FIRET 4 ATVAZHBORITLODDEE
LTLEEL, (Figurel)

T4 ATV ZBH T HHlcI— FPO—-T%
WMDOALTLEEWV. IIH. WEOREAICED

. PATIL N M1 245 1 2T UA D RBREOBICBDET,  S9° B )

*2 0 AR SMB)IET 4« AT A Dt EREDHRICHDET .
@Y REMONTIBEF. HDFIETHIHENETD, 1t E
ANxs SsT5E 1004w x 229.1(H) x 5000)mm
25 KRD TS FPREREHENL SIS o
P4 ) 40K
FBLTIREEN, H 8 40Ke

O BERFFEFSLEEIDIENDDET,

S BB G NEC MuliSyne 5% SE K. BT
DREREWER, EFADEARBHRH MitiSyne EREMAT
'y

AESRER T MuliSync BREi@iH0.

* MultiSync P701

R

SRR+

22 [

FE: LIER BRIMERE (M12) KT R ERER L EFIRE, *
BOERESEE N R EANBERE, RS
NEHABGE.

*: mIMEE (M12) B S ELCDRE REEMIEEH.

1. 1IBRFERE.

2. B RRBREANERKE, FIERAEIREHINEE (M12) B ERR
RS, ARFREHEAEL. (Figure 1)

. BREFB/BASERE, IrEBEREMMAY 2 g, (Figure 1)

*F 22 x 2

A REFEE

A EE - &4 MultiSync RRERIEEER, 1/ MVDIRIEUL RIS
1L,= Eﬁﬂiﬂo
FRRG1R 7 -

FRHRERNE RSN, BERARZENHEENRRARERE T REE

EEEEE L, LR REEE.

£/ BINIZFE (M8) 2 BB RS K E AR ~es E. (Figure 2)

L {E A mINEE (M8) kB L BReS1e% KT, 1518 mINERE (M8) REZERT

#=ERE (B2,

FE: BERSEEERELZA, BRERERZEBRTETENER.
BB RSEZH, BELMNER LIRTERRWESR.

*2: mINEZIE (M8) B2 ELCD R REsMifF .

g

R~F: 1004 (%) x 229.1(F)x 500 mmGE) (84) EE: 40kg 13t

kIt AR AN/ AR AT AT RESRERTEE B, [RETRR R BT




. Items marked with this symbol indicate items containing instructions which, if ignored or improperly . Les éléments marqués de ce symbole contiennent des instructions qui, si elles sont
Awarnmg followed, might result in death or bodily injury. AAvertlssement ignorées ou mal suivies, peuvent entrainer la mort ou des blessures.

q Items marked with this symbol indicate items containing instructions which, if ignored or improperly c Les éléments marqués de ce symbole contiennent des instructions qui, si elles sont
Caution i i bodily ini Attention iaNOré Vi i :
u followed, might result in bodily injury or damage to property. ignorées ou mal suivies, peuvent entrainer des blessures ou endommager les biens.

Safety Precautions (A note on symbols used herein) Précautions de sécurité (remarque sur les symboles utilisés ici)
Be sure to read the following descriptions carefully before installing. Assurez-vous de lire attentivement les descriptions suivantes avant l'installation.

AWarning AAvertissement
/A When installing your MultiSync monitor, be sure to have it installed correctly in accordance with the instructions given A\ - Lorsque vous installez votre moniteur MultiSync, assurez-vous de le faire correctement selon les instructions données
herein. Improper installation may cause the MultiSync monitor to tip over, and this in turn might result in bodily injury. ici. Si l'installation est incorrecte, le moniteur MultiSync risque de basculer et par conséquent de blesser quelqu'un.
@ - Be sure to follow the assembly instructions in the order they are given and to firmly screw in all screws in their @ - Assurez-vous de suivre les instructions d'assemblage dans I'ordre ol elles sont données et de serrer fermement
designated locations. Failure to follow instructions might cause the monitor to tip over, fall down, become damaged, or toutes les vis a I'emplacement prévu. Si vous ne suivez pas les instructions, le moniteur risque de basculer, de
result in other unforeseen accidents after the MultiSync monitor has been installed. tomber, d'étre endommageé ou d'entrainer d'autres accidents imprévus aprées l'installation du moniteur MultiSync.
Q - Never alter any of the provided components, as doing so might result in the MultiSync monitor tipping over, which S - Ne modifiez jamais les composants fournis car cela pourrait entrainer le basculement du moniteur MultiSync et par

might in turn result in bodily injury. conséquent blesser quelqu'un.
+ N'utilisez jamais de piéces ou composants endommagés car cela pourrait entrainer le basculement du moniteur MultiSync et par conséquent blesser

%)

+ Never use any damaged parts or components, as doing so might result in the MultiSync monitor tipping over, which might in turn result in

%)

bodily injury. If you do find any damaged parts or components, contact the retail store where the product was purchased for assistance. quelqu'un. Sivous trouvez des piéces ou composants endommageés, contactez le magasin dans lequel vous avez acheté le produit pour obtenir de laide.
- When moving the stand and MultiSync monitor while they are still attached together, never move the stand and monitor by Q - Lorsque vous déplacez le support et le moniteur MultiSync alors qu'ils sont fixés ensemble, ne les déplacez jamais en tenant
holding the stand alone, as doing so might result in the MultiSync monitor tipping over, which might in turn result in bodily injury. uniquement le support car cela pourrait entrainer le basculement du moniteur MultiSync et par conséquent blesser quelqu'un.
ACaution AAttention

B>
>

- When attaching a MultiSync monitor to the stand, be sure to hold the MultiSync monitor in place when doing so, as - Lorsque vous fixez un moniteur MultiSync au support, assurez-vous de bien tenir en place le moniteur MultiSync. Si
failing to hold the monitor in place might result in it tipping over, which might in turn result in bodily injury. vous ne le faites pas, le moniteur pourrait basculer et par conséquent blesser quelqu'un.

+ When attaching the MultiSync monitor, turn off the power to the monitor and any connected devices and remove the - Lorsque vous fixez le moniteur MultiSync, mettez ce dernier ainsi que tout autre appareil raccordé hors tension et
power cord from the power socket before doing so. retirez le cordon d'alimentation de la prise murale avant de le faire.

>
>

Sicherheitshinweise (Eine Anmerkung zu den hier verwendeten Symbolen) Precauciones de seguridad (Nota acerca de los simbolos utilizados)
Lesen Sie vor der Montage die folgenden Beschreibungen sorgfaltig durch. Antes de la instalacién lea detenidamente las siguientes descripciones.
A Acht Die mit diesem Symbol gekennzeichneten Teile weisen auf Teile hin, die Anweisungen enthalten, A Advert . Los elementos marcados con este simbolo contienen instrucciones que, de ser ignoradas o
chtung die, wenn sie ignoriert oder falsch befolgt werden, zu Tod oder Kérperverletzungen fiihren kénnen. vertencia seguidas inadecuadamente, podrian ocasionar dafos fisicos e incluso la muerte.
Av icht Die mit diesem Symbol gekennzeichneten Teile weisen auf Teile hin, die Anweisungen enthalten, die, A ) 0 Los elementos marcados con este simbolo contienen instrucciones que, de ser ignoradas o
orsic wenn sie ignoriert oder falsch befolgt werden, zu Kérperverletzungen oder Sachschaden fluhren kénnen. recaucion seguidas inadecuadamente, podrian ocasionar dafios fisicos o dafos a la propiedad.
AAchtung AAdvertencia
/\ - Stellen Sie bei der Montage Ihres MultiSync Monitors sicher, dass er in Ubereinstimmung mit den hier angefiihrten Anweisungen A\ - Al instalar el monitor MultiSync, asegurese de haberlo instalado correctamente segun las instrucciones. Una instalacién
montiert wird. UnsachgeméRe Montage kann zum Umkippen des MultiSync Monitors und als Folge zu Kdrperverletzungen fiihren. inadecuada podria provocar que el monitor MultiSync basculara y como resultado ocasionara dafios fisicos.
@ - Folgen Sie den Montagevorschriften in der vorgegebenen Reihenfolge und schrauben Sie alle Schrauben an den @ - Asegurese de seguir estrictamente el conjunto de las instrucciones asi como de fijar cada uno de los tornillos en los
daflr vorgesehenen Stellen fest ein. Das Nichtbefolgen der Anweisungen kann Umkippen, Herunterfallen, lugares destinados a tal efecto. Si no sigue estas instrucciones puede provocar que el monitor MultiSync bascule,
Monitorschaden oder andere unvorhergesehene Unfélle nach der Montage des MultiSync Monitors verursachen. caiga, se rompa o que ocasione accidentes imprevistos después de su instalacion.

- Verandern Sie nie die mitgelieferten Teile, da dies zum Umkippen des MultiSync Monitors und als Folge zu -Nunca altere los componentes proporcionados. Al hacerlo, podria provocar que el monitor MultiSync basculara y
Korperverletzungen fiihren kann. produjera dafios fisicos.

%)
%]

S - Benutzen Sie nie beschédigte Bauelemente oder Teile, da dies zum Umkippen des MultiSync Monitors und als Folge zu Korperverletzungen fiihren kann. - Nunca utilice partes o componentes dafiados. Al hacerlo, podria provocar que el monitor MultiSync basculara y produjera dafios fisicos. Si
Wenn Sie beschadigte Bauelemente oder Teile entdecken, wenden Sie sich an den Handler, bei dem das Produkt erworben wurde, um Hilfe zu erhalten. encuentra partes 0 componentes dafiados pongase en contacto con el distribuidor al por menor al que compré el producto para solicitar asistencia.
- Falls Sie den Stander zusammen mit dem MultiSync Monitor bewegen, wéhrend diese noch miteinander verbunden sind, bewegen Sie den Stander und den Q -Nunca desplace el soporte y el monitor sujetando sdlo el soporte mientras ambos estén acoplados. Al hacerlo, podria
Monitor nie, indem Sie nur den Stander alleine anfassen, da dies zum Umkippen des MultiSync Monitors und als Folge zu Korperverletzungen fiihren kann. provocar que el monitor MultiSync basculara y produjera dafios fisicos.
AVorsicht APrecaucién
A - Vergewissern sie sich beim Anbringen des MultiSync Monitors an den Sténder, dass der MultiSync Monitor richtig A Al acoplar el monitor MultiSync al soporte, asegurese de sujetar bien el monitor MultiSync. No hacerlo podria provocar

platziert ist, da eine fehlerhafte Platzierung zu seinem Umkippen und als Folge zu Kérperverletzungen fiihren kann. que el monitor basculara y que ocasionara dafios fisicos.

A\ - Schalten Sie beim Anbringen des MultiSync Monitors die Stromversorgung des Monitors und aller an ihn A - Apague el monitor MultiSync durante la fijacion al soporte y desenchufe cualquier dispositivo conectado asi como el
angeschlossenen Geréte ab und entfernen Sie vorher das Stromkabel von der Steckdose. cable de alimentacion antes de proceder.
merome o i
Precauzioni di sicurezza (Nota sui simboli utilizzati) R2FOTET  COBRHPECHERLTLVSRREBEHRIIRDELIIHOTFT,
Accertarsi di aver letto le seguenti descrizioni attentamente prima di iniziare l'installazione. B - o=FERELT B RORVETRE ADNEEFLGE Q :Iﬂ CORTERELT, BolBDRVETBE, ADMEASTHENYE
= = e STRh RS NBNEERLTLET, IEB wonsn mssomcsBEEnsNEETLCLET.
A AVViso Gli articoli contrassegnati da questo simbolo indicano che contengono istruzioni che se
ignorate o non seguite scrupolosamente, potrebbero causare decessi o lesioni. BEEsRE0EkIERDESDTT .
- Gli articoli contrassegnati da questo simbolo indicano che contengono istruzioni che se ignorate ® o _
. 2 . s EE aral AN B TIFDIENTLEE VN, USRI VBT ety
AAttenzmne 0 non seguite scrupolosamente, potrebbero causare lesioni o danni alla proprieta. A FRLCSEEL el Sy e e
sS4 ===
: — = A EE
AAVVISO - L
S RETUATVAERET DS ABICESNTE ® BNCBREEALEN T E WV RBT 4 X TLA BT AT A RS IR B 4.
B A i H i i di H H i~ A H U<EIORHFTLIEE WV BROICREISRBET A AT MREUTIIRDRERREEDET . 5 —. B@mHENTC EE 2 HASET o
/A *Quando si installa il monitor MultiSync, accertarsi di averlo installato correttamente secondo le istruzioni. Un'installazione ety vty e B AR e, BETA ATV RS ABH BB TLIEE

scorretta potrebbe causare ribaltamenti del monitor MultiSync, e cid potrebbe causare a sua volta lesioni. VAL O ORACESCEN B
A COFIEZFO JEEDERTF I N THESE(C

+ Accertarsi di seguire le istruzioni di assemblaggio nell'ordine dato e di avvitare fermamente le viti nella posizione FYBOUCIZE N EEETOBUEERT (A
TUA DEDATF4I(C BEHEEafEl, J& NS EDBD

corretta. Nel caso in cui, dopo l'installazione del MultiSync monitor, tali istruzioni non vengano seguite, il monitor e ® A RS UREBET AR T RO T R TS

potrebbe ribaltarsi, cadere, danneggiarsi, o causare altri tipi di incidenti non sperimentati. TRIE RS RARE R BNTLEE N RBT A
2TUA DRI T ORAEEFDET

AR DRE T4 2 TUA SR . o .

WCLIEE WV AL TIIHDRASHEDET . REBIEEZ T DHICIF RBET A ATUA LT
KEROERZYID. BRISIZI VM5
HFNTLIEE L,

eb

*BERZEBUEUIEWNTLIES WV BB T A ATUA DR
FILTIDDFERESEDEY

- Non alterare mai nessuno dei componenti, poiché cio potrebbe causare un ribaltamento del monitor MultiSync, cosa
che potrebbe causare lesioni.

%)

+Non usare mai nessuna delle parti danneggiate poiché cid potrebbe causare un ribaltamento del monitor MultiSync, cosa che potrebbe
causare lesioni. Se trovi le parti o i componenti danneggiati, contatta il rivenditore da cui hai acquistato il prodotto per assistenza.

%)

® «Quando sposti il supporto e il monitor MultiSync mentre sono ancora collegati, non muovere mai il monitor e lo stand
da solo, cosi facendo potresti far cadere il monitor MultiSync, cosa che potrebbe causare lesioni.

AAttenzione

- Quando si collega un monitor MultiSync al supporto, accertarsi di tenere il monitor MultiSync vicino altrimenti il monitor
potrebbe cadere, cosa che potrebbe causare lesioni.

- Quando si collega il monitor MultiSync, prima di iniziare, spegnere il monitor e i dispositivi collegati quindi rimuovere il
cavo dalla presa prima.

B>

B>

RHEEN CRIREHAT SR ERRY
QLR BESUITFMEIEN TR

A ‘Tzﬁ gﬁ‘%hﬂﬁ’ﬂﬁ BERERTZNBESEERT, NRZUSAERBETXLERR, WA ESHET
HE.
A spEm B HA LTSRN BRFZNEESEERE TR, NRZUHAFEMHETXLIET, WAESHAS
s REEFERIR

N

‘&4 MultiSync RRzERt, HFLRBAIGPARPIZPAERHAITRE. REFCHAESH MultiSync R85
@J Mﬁﬁ—rﬁk%ﬁ

FERBRERIABIMANINF, BAABRLERMITNEENME. TMERIFABIRE, ATESE MultiSync
ET#E*“%‘FEMH . ISR SREMEINEY.

A%
! R
O - MBI MHIH REL, TUAESH MuliSyne RREE, ATSBASEE.
O
O

I7E BT AR EHEEYE, BNERESE MultiSync BREFE, MNMEHASGE. MREIVEATEHE
AR, BB RMTIZ A EEEIEKBEN .

- LRFFREM MultiSync RRaEEE—RHFHITHNN, P7UIERERBINKEFE RS, TNUAEES
MultiSync EREEEHE, NMSHAZGE

NiE=E
A % MultiSync BRSBLRUEEIRE L, EXUERERE MuliSync BRREEEE—SE, BN AESHEE,
MMEBAEHE

A\ - 2% MultiSync BREER, B R sSFIRTE MR A A BB ITIS A M BRERE IR, SAEHHTRE.




